[FAM74E] 3866 THRAR—Y K -#HaeR

] —127C7a0 18 S
XEBEA BISA(DH/EEBARKRTE)OF—LETD s=3%4 11:30~12:30
H=pOstas 12:45~13:45
[(78208) ; (78278)
_________________________________________________ !
1 KA — — .
e A1 '
2 ) INR—ILIST I
_________________________________________________ i
3 MBI : Al
e A2 I
4 HETY IMR—IL ST I
————— A4 i
5 c B ki) ,
e A3 :
[} i I
6 | N 2 , '
f:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIf ! A3 —%
7 SISy AA : i
,ZIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII: B2 ,
8 BRE :
e B4 '
9 C 1 |
:IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII: B3 I
10 ! HOELYTH S | A2
no R !
e B .
12 BrfHvIdbR—ILBEFHSE ——— I
L LT 4—ADES
[7868)
[ XX ] 20 4=
A4
________________________________________________ 3 H#




¢

© © ® 0 0

[FM74E] 3866k THRAFR—Y K&-#l

HER

s, — m_4a  9:00~10:00
ST DE m—4& 10:15~11:15
M5O L E (481 B DF— LEMET S E=kA  {1:30~12:30
Ess  12:45~13:45
[7A6H]
BB A (BEB2 5. Bl A, BH0EET3)
No. F—L% C 1 TI—T74T eI JE AL
o) °
1 C 1 * 8 — 4 9 — 12 3
= ) ®
2| TN—TJ7A47 4 — 8 * 12 — 1 2
3 eSS 12 — 9 1 — 12 * 4
No. F—L% KHEF RERVT EHWHAZ Bz
® ®
4 RET * 5 — 7 0—5 6
5| FBRV=T 525 * s 21 5
6 BEHAZ 5 © 0 11 ° 6 *
& 2B [AE)
BEHE C 1 Vs | TIL—TypA7 YA Y e R S
BoHA RS Vs | TIL—T7pA7 P Y C 1
E=RA EYIES Vs C 1 FEHHE Y TJIL—T747
& #2JE [BE]
B—HA &HAF Vs | HBERIVZ7 25 4H EMHHRI
BoHA EHHAS Vs XKHATF 22 43A 2 FERVZT
E=RHA ESHHAZ Vs | ZFE&VZT 22348 24 KHEF
F— L pom | wen | UF | s | wxs | R | xae (mxakzm o
C 1 2 17 0 2.83 10 o 26067 017 3
TJI—T7A4T 2 16 7/ 2.29 hH 7/ 0.714 1.57 2
EFl= 2 13 5 2.00 21 5 47 | A 160| b
KHETF 0 5 7/ 0.71 12 7/ 17141 A 100 ©
FEEVZT 2 13 0 217 10 o 200/ | A 0bB0O| 4
HHHA 4 16 7/ 2.29 6 7/ 0.857 1.43 1

— 8




20254F (FATHE) WRAF—VY R BRA

TH6H (H) TCNAR—IY—2KII

Q®TCNAAR—Y/NN—SHxL AE =7

F—HE

F — 4 2 | 83 | 4 & &
C1 0 6 2 8
IL—2747 0 2 1 4
E_HE

F — LA 2 3 4 a &t
EEXES 1 0 1
IN—T747 9 0 12
FgF=HE

F — L 2 8 | 4 & &t
C 1 0 9
EEXIES 7 12
O TCNRR—Y/\—Ykll AE LT4—R
FEmEE

F — LA 2 3 4 a &t
FLUORy =X 0 2 1 3
ILxF—X 1 |113]| 6 20




O TCNRR—Y/\—SkIl BE =7

F—HE

F — A 2 | 3 | 4 & &
KRBT O | 5 5
FHL=7 0 | 1
E_RA

F — A 2 | 3 | 4 & &
RBTF O | 0| O 0
BFEHARZ 1 0] 0] 5
F=5a

F — L 2 | 38 | 4 Gl
EEV=T 0 5 6
FEHR=Z 4 4 11




